Final XV Mistrzostw Polski w Grach Matematycznych i Logicznych, 27.05.2018

Zadanie Rozwiazanie Punkty | Wspétczynnik
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9 4 rozwiazania: 1, 5, 13 lub 17
10 2 rozwiazania: ~ ™
11 1 rozwiazanie: 47 lat
21610 | 68(10] |10]|10(10| [14]|12]10
12 7 rozwigzan: | 4 (8 |12| (7|9 [11] |10{10{10] |13|11]| 9
6 (10|14 | 8 110)12] |10|{10(10| |12/10] 8
18(1410( [22]|16|10] [26|18{10
16(12| 8 | [19]|13| 7 | [22]|14] 6
14(10) 6 | [16|10| 4 | [18]10] 2
13 1 rozwiazanie: 42
14 2 rozwiazania:
15 4 rozwiazania:14, 15, 16 lub 19 zt
16 1 rozwiazanie: -
17 3 rorwiagania: 463, 007 1o
18 3 rozwiazania: 3, 13 lub 51




